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Compiler Design
Time : Three Hours
. Maximum Marks : 70
Note: i) Attempt any five questions.
f=di ofa el & 7ot Fifom)
1) All questions carry equal marks.
Ht weat & W aiw
ii1) All parts of each questions have to be attempt at one place.
Wl el & Tt T U 8§ R R g

iv) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Explain in detail the various phases of compilers with
' an example. 7
U STERVT B HIY Heheren o faf¥sr 2ol & an & Raw
| T

b) Prove that, if L is a recursive language, then L will
also recursive language. 7
R Ao 5, af L ve qeraelf o 2, &t T gt

syrer ot gnfhy
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xpressions 2 1 = b ¥ ¢ ™ 4 with

f the compiler. _
f compiler and interpreter,

7
i) ﬁqqqqﬁ’fzﬁ’lgﬂﬁﬁ(’a:=b+0*4may
fyfeyst ol & HA
i) e i gAIar I 3 o
What is LL (1) grammar? Givethe p
grammar. _
LL (1) @maxe 1 87 LL (D) Y & 01 3
Explain Finite Stat¢ Machine (FSM) with its hmltatmn;
d applications.
%%ﬁ?mﬁﬁﬁwuﬁﬁﬁwmﬁa (FSM)
& e R
What are the applications of DAG?
2 & SR FE?
Why are quadruples preferred over triples in an
optimizing compiler? 7

iR darEer i e § ot = T 0¥E

i) Solve the given €
different phases 0
ii) Tiustrate the concepts 0

&1 o3l @1 o IR
perties of LL (1)
7

7

ST 82 o
What are the steps involved in partitioning @ sequence
of three address statements into basic blocks? 7

gﬁaﬁﬁﬁﬁfﬁ?qﬂﬂﬁmﬂimaﬁﬁwﬁﬁ Gag
o qnfiieT ded T €7

Show that the equivalence problem for finite-state
rransducers is reducible to the equivalence problem for
pushdown automata. 7

wefdfa #RA 5 finite-state transducer & foR) AT
H9EIT pushdown automata & R Brgeadl W9 &

ford quf srgepferdt &1
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b) Whatare Dags and how are they useful in implementing

transformations on basic blocks? 7
Dags 1 & 3R 3 PR} et o) aftaetHi o ot 3
& Imantt &7
6. a) Whatisacross compiler? Give an example. 7
1Y PUTEeR &1 § 2 T QIR 3
b) What are the properties of optimizing compilers? 7
HebeTds P e & 0T 1 82
7. a) What is a context free grammar and explain closure
properties of context free grammar? 7
e e aT ATl 7T ] Sl weH e anend & 99
T g €7
b) Mention the criteria for code improving transformations.
_ 7
g GUR URac! & g Ards 31 g il
8. Explain the following terms with example. 14

i) Lexical analysis
it) SLR Parser

ii1) Back patching

iv) Loop optimization
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